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int led1=9;

int led2=10;
int led3=11;
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void setup{

pinMode(led1, OUTPUT);



pinMode(led2, OUTPUT);

pinMode(led3, OUTPUT);
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void loop{
color(random(0,255),random(0,255),random(0,255));

delay(1000);
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void color(int red, int green, int blue){
analogWrite(led1,constrain(red,0,255));
analogWrite(led2,constrain(green,0,255));

analogWrite(led1,constrain(blue,0,255));
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#tdefine SO 6



ttdefine S1 5

#tdefine S2 4

#tdefine S3 3

#tdefine sensorOut 2

int ledl = 13;

intled2 =12;

intled3 =11;

int frequencyl = 0;

int frequency2 = 0;

int frequency3 = 0;

int k1=0;

int k2 =0;



int k3 =0;

void setup() {

pinMode(S0, OUTPUT);

pinMode(S1, OUTPUT);

pinMode(S2, OUTPUT);

pinMode(S3, OUTPUT);

pinMode(sensorQOut, INPUT);

pinMode(led1, OUTPUT);

pinMode(led2, OUTPUT);

pinMode(led3, OUTPUT);



digitalWrite(SO, HIGH);

digitalWrite(S1, LOW);

Serial.begin(9600);

void loop() {

digitalWrite(S2, LOW);

digitalWrite(S3, LOW);

frequencyl = pulseln(sensorOut, LOW);

frequencyl = map(frequencyl,-10, -49, 255, 0);



Serial.print("R=");

Serial.print(frequencyl);

Serial.print(" ");

digitalWrite(S2, HIGH);

digitalWrite(S3, HIGH);

frequency?2 = pulseln(sensorOut, LOW);

frequency2 = map(frequency2,-10, -50, 255, 0);

Serial.print("G=");

Serial.print(frequency?);



Serial.print(" ");

digitalWrite(S2, LOW);

digitalWrite(S3, HIGH);

frequency3 = pulseln(sensorOut, LOW);

frequency3 = map(frequency3,-10, -41, 255, 0);

Serial.print("B=");

Serial.print(frequency3);

Serial.printin(" ");

k1 = frequencyl/10+44;

k2 = frequency2/10+75;

k3 = frequency3/10+103;

analogWrite(led1,k2);

analogWrite(led2,k1);

analogWrite(led1,k3);



delay(1000);



